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QUESTION 1

What are two reasons for configuring more than one VLAN on a switch? (Choose two.) 

A. A group of clients requires that security be applied to traffic entering or exiting the group\\'s devices. 

B. A group of devices must forward traffic across a WAN. 

C. A group of devices are connected to the same Layer 3 network. 

D. A group of clients requires that the group\\'s devices receive less broadcast traffic than they are currently receiving. 

Correct Answer: AD 

 

QUESTION 2

What are two interarea OSPF LSA types? (Choose two.) 

A. Type 1 router LSAs 

B. Type 3 summary LSAs 

C. Type 4 ASBR summary LSAs 

D. Type 2 network LSAs 

Correct Answer: BC 

 

QUESTION 3

What is the default BGP group type on a Junos device? 

A. internal 

B. external 

C. multihop 

D. null 

Correct Answer: B 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, what do the asterisks (*) indicate? 

A. The entries are new 

B. The entries are stale 

C. The router originated the entries 

D. The router received the entries 

Correct Answer: C 

 

QUESTION 5

You are adding a new EX4300 member switch to your existing EX4300 Virtual Chassis. However, the new member is
not running the same Junos version as the other members. 

By default, what is the expected behavior in this scenario? 

A. the Virtual Chassis will transition into a split brain situation between the existing master Routing Engine and the
switch running the different version. 

B. The new switch will automatically pull the correct version from the master Routing Engine and perform the necessary
upgrade. 

C. The new switch will be assigned a member ID and then placed in an inactive state. 

D. The new switch is not recognized by the Virtual Chassis. 

Correct Answer: C 
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